


MACO M106HV

PACKING LIST

PART QTY OD SIZE LENGTH DESCRIPTION CHECKLIST
T52P 2 2 .060” 80" ALUM. TUBING SLOTTED ONE END
T3P 2 2. .050 80" ALUM TUBING SLOTTED ONE END

SWAGED OTHER END TO 1.835

TSP 2 2 .050 36"  ALUM TUBING SWAGED ONEEND TO1.835
53 1 1.845" .060" 80"  ALUMINUM TUBING -
TP 12 5/8° .050° 72°  ALUM.TUBING SLOTTED BOTH ENDS _
To4 4 ¥ 050" 805" ALUMINUM TUBING .
TOl 20 v 050 72°  ALUMINUM TUBING .
PO3P 1 Y X6 g’ PLATE 2" BOOM TO 2" MAST _
Vo3P 1 1"x1” 24’  VERTICAL GUY SUPPORT _
WD2P 1 6/18 25  STEEL GUY CABLE _
GOIP 2 GAMMA MATCH _
Z0SP 4 GAMMA STRAPS F/COAX CONNECTORS _
S22 FEMALE COAX CONN. WMOUNTINGNUT
HARDWARE BAG #1
uolr 25 2’ PLATED U-BOLTS L
01 26 2’ PLATED SADDLES _
NO3 52 5/16” LOCK NUTS _
HARDWARE BAG #2
BE2P 12 BOOM TO ELEMENT MOUNTS L
HARDWARE BAG #3
W58P 24 5/8” EXTRUDED ALUMINUM CLAMPS _
21 30 10-24 ¥ MACHINE SCREWS —
PL2 24 437 PLASTIC CAPS—BLACK _
N1l 30 10-24 SQUARE NUTS _
N18 2 5/16" EYEBOLTS—WITH (4) NO1 NUTS _
PL5SR 1 2 PLASTIC CAP—RED —
PL5 1 2 PLASTIC CAP—BLACK _
EG2 4 EGG INSULATORS —
N12 6 #10 LOCK WASHERS _
ZO2P 4 GAMMA STRAPS _
1 TIP SHEET -
1 WARRANTY SHEET .
1 INSTRUCTIONS

Please note: In an effort to keep the price on Maco Antennas down, we have decided not to clean up al the
burrs and rough edges on the parts. We recommend that you deburr and clean up each part with files,
sandpaper, etc. so that they go together easily. We are aware this needs to be done but have elected not to
do it to save you the money we would have to add to the price of the kit for this service.

Revised 05/09






	Assenbly_106HV
	M106HV_packing
	ZSafetyWarning

